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Part III — Vocational Subjects

SlgLiLienL & S 11 Qumdludwieo
BASIC CIVIL ENGINEERING
(WO wHMID hidle eufl / Tamil & English Version )

sme 2jere] : 3.00 wenfl CHyb | [ Qorgg wHutuarser : 90
Time Allowed : 3.00 Hours | [ Maximum Marks : 90

Sileyenrae : (1) Amearsg elamssesb sflwurg udeurdl o drargr erarugamer sflumTég)d
Qamaremeyd. FaslILSeND GampullmLllber oemns searamenillimerilLb
o | amquinsg Cgflelssal.
(2) Beod Seoeg &HmLUY abullomar LLHCL T USDHEGLD
S 5CamghHausH@n LwearU(Bss Colar(Hb. LLBIGET auanFeusnd
Quendled LweT(hSSeLD.
(3) sro@CGalLr uwaU(hEgeug AH@LIHESILHS DI
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

(3) Use of Calculator is permitted.

U@3) - I/ PART - I
GOILY : (1)  Semensgl efamssErdsEh elenwelléseay. 15x1=15

(ii) Gaer@ssiul(erer wrHm L gaile WEaD ghLmL ellanL el
Cambos(hssis GOUILHLer e ulemarb Caigg e (pse.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

[ Slpliys / Turn over



6684 2

1. , GamiLib amwlLgnHE@ THmEee.
(<=1) <O wewr (<=) QEbieT
(@) wewTHUMBISTET @)L LD (FF) et
is not suited for gardening.
(a) River soil (b) Red soil
(c) Sandy soil (d) Clayey soil

2. Geuetery Qupsslearmed GQgrom Crrusedr ghuBHaTDar. Q& DHEGS &yeLd

(=) B Comi@ze (=) 2udls wayp  (§) Yue () Less sTH)

Flood causes a risk in epidemics because of

(a) Water Logging (b) Heavy Rain (c) Cyclone (d) Strong wind
3. slLaawlber Hlawss ereanLenul SHETMT GHMDEHDF|.

(<) T G e
(<=1) LGLm HCGareuh Gyl
(@) Brm QumLseTTed cuaIaLL L i1
(FF) sWTITS S&SSHLILIL L
concrete reduces the dead load of the structure.
(a) Light weight
(b) Auto claved aerated

(c) Fibre reinforced
(d) Ready mix

4. aflldmiyg semend QETaRTLg).
(<=1) Wermeig & (<4,) SETERTTIg
(@) ooemum Gumr(h (FF) @mlum
absorbs light.
(a) Plastic (b) Glass
(c) Fibre board (d) Rubber
5. QCwr@Ll s Hleo jerdEems eTemig) GTeTmID AMLP&SILHE D).
(=) srmhg Hle oieT&Ems (=) LLL Bl Aeméans
(@) ueLggierm Hle en&ams () LAsemm@l fssd Hlo oieréEms

The geodetic surveying is also called as
(a) Mine surveying (b) Plane surveying

(c) Military surveying (d) Trigonometrical surveying



10.
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Bl&T erenL_anu erarm FCr&s erpsSsTe GDILIGLGMD.
(1) v (<2) (&) « () B
Specific weight is denoted by the Greek letter

(a) v (b) (€) « d B

G4 ST (HEE HALHESILL L SOBSGD STeOUNT 66y
(=) 15 -(mBg 20 ppm cueny (<=4,) 5 -e0l(mbg 10 ppm euanty
(@) 20 -d(mHg 25 ppm euen| () 10 -&Sl(mBg 15 ppm eueniy
The permissible turbidity of drinking water is

(a) 15to 20 ppm (b) Sto 10 ppm
(c) 20 to 25 ppm (d) 10 to 15 ppm

Qg ewred Uy &L lggeflen allqs (HD SHmeor .

(<) 2000 - 3000 &0/&.15/wawfl (<) 100 - 200 &/&..5/wewfl
(@) 3000 - 6000 &)/&.15/ e (/) 500 - 1000 &l/&.15/ e
The rate of filtration of slow sand filter is .

(a) 2000 - 3000 litres/m2/hour (b) 100 - 200 litres/m?2/hour
(c) 3000 - 6000 litres/m2/hour (d) 500 - 1000 litres/m?/hour

apde sl paoy Cesliss efLsddope wHdTe @LsDE
Qarearr(h Ceoaid pansE sWeBrabnise ererm GLw.

(1) Bri& genwo (<) UMGTETE FTHHEDL

(@) svGegy (FF) @ eoTeum

The entire process of collecting and carrying sewage by system through
sewers is known as sewerage.

(a) Water Carriage (b) Sewer

(c) Sullage (d) Invert

ST, GGG T PPELD LITEYeUMSE SHewTL Ml bSeu

(=) Cegmals pbiom (<=,) eruilen Gwerflwimen

(@) Gegmir_meor () sgmer eGHT
discovered that Cholera was spread by water.

(a) Joseph Bramah (b) Louis Moureas

(c) Jordan (d) John Snow

[ Hmluys / Turn over
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11.

12.

13.

14.

15.

2 &8l LPEMWL FrTene CHurller alallbysmer QeaansE Camiiger Fifley
eTem AMP&SILMHSDS).

(1) @UUT 2 Wi (=) smiey

(@) eflpariiey () Gsreneve| LMTenal

The slope of the line joining the crown and the edges of the road surface is called

as

(a) Super Elevation (b) Gradient

(c) Camber (d) Sight distance

SBI&G BIDHETE ST 2 &l BewrL QpHiEpamanerd S L brELb.

(=) wpammraig (<) @raireug  (Q) prasreug () ghHTeuF)

The Golden Quadrilateral is the longest highway project in the World.
(a) third (b) second (c) fourth (d) fifth

gy @ pelansuler e

(<) Byt Lan/8 (<) Blug L e/ 18,18
(@) Byl Ler/QsLS () Bl Ler/&.0.08
The unit of surface tension is .

(a) Newton/m (b) Newton/mm

(c) Newton/cm (d) Newton/mm?

Gmid gnuib nHmed @plmu sranb Lrrsduler &GsHrsdled f -erarug)

B GH&Sng.
(SN) FMHES GTHLD (=) SlensCousbd
(@) Ceualuil () @eawrsbd () 2 pmleyd @D
In Darcy’s formula for loss of head in pipes, ‘f’ denotes
(a) Co-efficient of contraction (b) Velocity
(c) Co-efficient of discharge (d) Co-efficient of friction

geummen @eneant/ @Qeeanasamers Csihb6ls(H&sea L.

(1) ysy - Heophésn
(2) wreoLm - Gt
(3) elsdlafwm - Hleogasfley

(1) (1) wpmbd (3) (<) (1) WL (8) () wiBb (FF) (2) wpmibd (3)

Find the incorrect pair/pairs.

(1) Bhuj - Earthquake
(2) Malpa - Tsunami
(3) Lituya - Land slide

(&) (1) and (3) (b) (1) only (c) (3) only (d) (2) and (3)
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U@ - 11 / PART - II

Gl : gCaemib LSFH laTssErsE ol waldsa|b. clerm e 28 -&@
sL_Lmuwns el wealssa Couemr(hib. 10x3=30

Note : Answer any ten questions. Question No. 28 is Compulsory.

16. empuliler gal el upmdl @GolLiL euers.

Write short notes on grouping of rooms.

17. sarLWUO®DHUISD SWSESLILIHWL Liaw] enbWBISET Wmemel ?

What are the work centers in a Kitchen ?

18. Wlenarliyl Qum@@Llsger erarmmed eremen ? Gurgeuns Werasmliyl Qummlgerns
LweTU(hSSLIL(HLME! WTEnel ?
What are electrical Insulating Materials ? What are the materials commonly
used for electrical insulation ?

19. samewtmy LHMH o GOILIY cuenrs.

Write short notes on glass.

20. &l Ll urly wpmb dHaLgsasdnE Qe Guuydrer Ceumum® wrg ?

Differentiate between level surface and horizontal surface.

21. GPS - <qliLenl UGdlsamens sl gCaenld eardieaner 6llerdE@s.

State the fundamentals of G.P.S. and explain any one.

22. fifle sepglerer Smulgamer NGGD erafll (PEpDSMETE: Fomis.

State the minor methods of disinfection of water.

23. a5l lgsaleT UaMmSSET Wrenel ?

What are the types of filters ?

24. B ereueurm wr&UGS D ?

How water gets polluted ?

25. Guweveurl L cueneTelled LILIGTHET WTenel ?

What are the uses of Camber ?
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26. uUmELsE AlFlews Fnmis.

State Pascal’s Law.

27. yweder alleneTe ser wrenel ?

What are the effects of cyclone ?

28. smTme mEm&s GMHisailer CHTESmIGET wrenel ?

What are the purposes of Road Signs ?

U@ - I / PART - III

@Y : eTemauCuenid ®mBE amésErsE el waldsa|b. larm eam 35 -&@&
SL_Lmuwng elenL_wensss Ceuar(hib. 5x5=25

Note : Answer any five questions. Question No. 35 is Compulsory.
29. &iliged Qumgeuns @LbEAUMID AeDSET WTeneu ? FCHID eTenn 6ll6Td@s.

What are the rooms in a house ? Explain any one.

30. slLLU Qummetsaile rliLiflen Gurgeurer LweTUTHSET Wreae ?

What are the common uses of rubber as a building material ?

31. smdlall Bloo ersansuiler gHuBL LOCam sanLsamer elleufgs 6T(Lpgis.

Describe the different types of obstacles in chain surveying.

32. Qumg B ABlGwnss Sl L gdler Crrésmiser wremel ?

What are the objectives of public water supply scheme ?

33. Qupens B WIFUM IGHETET STFERTHRIGET WITEHE ?

What are the causes of natural water pollution ?

34. SlQwar shsreny FTaneuiler SiednembiseT HMID LrdlamamsameT L iqwiadl(hs.

List the merits and demerits of cement concrete road.

35. @mugefler gHuBbL Culpliyser wHmibd Sdlw @ LplriLseT wremeu ?

What are the major and minor losses that occur in pipes ?
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U@&3 - IV / PART - IV

SN : Semensg alamssErdsEh el waldsalb. Comaiwimear @Lnhigeafld LLLD

Note :

36.

37.

QUGN TS. 2x10=20
Answer all the questions. Draw neat sketches wherever required.

(=) GU@mULS sLLLEisaler eumssmers dafl cllemsEs.
S|6V608
(<=4) 300 .15 &Sl L_(1p1b 600 5 Berpld Camarr g @wmi 3 S Bl L Geumuir(®
Qararr @rarr(h BiisCasanigamar @amanadlng. Cafluldler wmheSleanw 60 crend
Qarea(® 1&GpTiler alfCu ghb Bilar HasCossmss srams.
(a) State and explain the types of residential houses.
OR

(b) A 300 mm diameter and 600 m long pipe connects two reservoirs. The
difference in water level between the reservoirs is 3 m. Determine the

velocity of flow in the pipe. Take Chezy’s constant as 60.

(=) GaeueTerliGlLmESlerCumgb, igem Mememmd g Goueiqw (pemlergstlsans

BLalgdamaser UnM allfleuns er(pgis.
S|60608)

(<=4) @@ L L AeTdEamns Serajser SCp QamhdsiLL (HeTerer.
4.390, 7.620, 6.520, 3.910, 5.390, 4.730, 6.290, 3.520, 4.330, 2.990.
&madl 3 -eugl HMID 8 -augl leTeysEhd@Lker @LLd wrHoULBOEDG. (PS6
<Sjaredlern Gan&asiuLL L LD + 200.000 LS. 6T &Hm6T Si6Te| L] L55555 60
UL iq el (), heppml BjeTedatlen @Gamn&sUUL L oL L BISEET 2 WITe HmiD
SMpe| WPepuled sasSll (), samssHsmer #flumréseb.

(a) Write in detail about the precautions to be taken during and after flood.

OR

(b) The level readings taken are listed below.
4.390, 7.620, 6.520, 3.910, 5.390, 4.730, 6.290, 3.520, 4.330, 2.990.
The instrument is shifted after 3'd and 8t readings. The RL of first point is

200.000 m. Enter the reading in a field book form and reduce RL by rise and
fall method. Apply usual check.

-00o0-





